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IJ#G:3%,	
  	
  Ms.	
  Nelson	
  has	
  5	
  textbooks	
  for	
  each	
  student.	
  	
  There	
  
are	
  26	
  students	
  in	
  the	
  class.	
  	
  How	
  many	
  textbooks	
  are	
  in	
  the	
  
class?	
  	
  

	
  
Which	
  of	
  the	
  following	
  responses	
  below	
  are	
  possible	
  
solutions?	
  

	
  
	
  

A. 	
  	
  	
  	
  	
  	
  

� 

2 6 + 2 6 + 2 6 + 2 6 + 2 6 = 	
  
	
  

B. 	
  

� 

2 6
× 5

3 0
+ 1 0 0

1 3 0

	
  	
  	
  

	
  
C. 	
  	
  	
  

� 

(2 0 × 6) + (5 × 6) = 	
  
	
  
	
  
	
  

D. 	
  	
  	
  	
  	
  26	
  	
  26	
  26	
  26	
  26	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  ?	
  	
  	
  	
  	
  	
  	
  

	
  
	
  
For	
  incorrect	
  solution(s),	
  show	
  the	
  correct	
  solution	
  using	
  
that	
  same	
  method	
  to	
  solve.	
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1. 	
  	
  	
  Students	
  are	
  divided	
  into	
  groups	
  of	
  6	
  to	
  visit	
  the	
  

museum.	
  	
  There	
  are	
  13	
  groups.	
  	
  How	
  many	
  students	
  in	
  all	
  
are	
  visiting	
  the	
  museum?	
  
	
  
Which	
  of	
  the	
  following	
  responses	
  below	
  4443ra a r RP r Rfs G R	
  s G Rts rs
r Wh	
  ehe	
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2. 	
  	
  Apples	
  are	
  packed	
  into	
  trays	
  of	
  12.	
  	
  Each	
  box	
  holds	
  4	
  

trays.	
  	
  How	
  many	
  apples	
  are	
  in	
  each	
  box?	
  
	
  
Which	
  of	
  the	
  following	
  responses	
  below	
  are	
  possible	
  
solutions?	
  

	
  
	
  

I. 	
  	
  	
  	
  	
  	
  

� 

4 + 4 + 4 + 4 + 4 + 4 + 4 + 4 + 4 + 4 + 4 + 4 =
	
  

	
  

J. 	
  

� 

1 2
× 4

4 0
+ 8

4 8

	
  	
  	
  

	
  
K. 	
  	
  	
  

� 

(1 2 × 2) × (12 × 2) = 	
  
	
  
	
  
	
  

L. 	
  	
  	
  	
  	
  12	
  	
  12	
  	
  12	
  	
  12	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  ?	
  	
  	
  	
  	
  	
  	
  
	
  
	
  
For	
  incorrect	
  solution(s),	
  show	
  the	
  correct	
  solution	
  using	
  
that	
  same	
  method	
  to	
  solve.	
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3. 	
  	
  An	
  ostrich	
  can	
  run	
  66	
  feet	
  in	
  1	
  second.	
  	
  How	
  many	
  feet	
  

can	
  an	
  ostrich	
  run	
  in	
  8	
  seconds?	
  
	
  





                                                            Page 8 of 10         MCC@WCCUSD   02/21/13 

	
  
5. 	
  	
  Travis	
  bakes	
  cupcakes	
  3	
  days	
  a	
  week.	
  	
  Each	
  day	
  he	
  bakes	
  

326	
  cupcakes.	
  	
  	
  How	
  many	
  cupcakes	
  does	
  he	
  bake	
  in	
  all?	
  
	
  
Which	
  of	
  the	
  following	
  responses	
  below	
  are	
  possible	
  
solutions?	
  

	
  
	
  

S. 	
  	
  	
  	
  	
  	
  

� 

3 2 6 ÷ 3 = 	
  
	
  

T. 	
  	
  	
  	
  	
  

� 

(3 0 0 + 2 0 + 6) × 3 = 	
  

� 

	
  	
  	
  
	
  

U. 	
  	
  	
  	
  	
  

� 

(3 0 0 × 3) + (2 6 × 3) = 	
  
	
  
	
  
	
  

V. 	
  	
  	
  	
  	
  326	
  	
  	
  	
  326	
  	
  	
  	
  326	
  	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  ?	
  	
  	
  	
  	
  	
  	
  
	
  
	
  
	
  
For	
  incorrect	
  solution(s),	
  show	
  the	
  correct	
  solution	
  using	
  
that	
  same	
  method	
  to	
  solve.	
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Warm-Up 
	
  
	
  

D(FO&&@'P&'Q(RS-O'5LT&&&&&&&&&&&&&&&&&&&& U%9/%2,&!"#$%&&&&&&&&&&&&&&&&&&&&&&&&
&
(/J&+)<$%*)+&2%"%&+/))/*4&#)&%#8K&
)#63%&/*&)K%&3<*8K"00GS&FK%"%&#"%&
'-&)#63%+S&V02&G#*M&+)<$%*)+&2%"%&
+/))/*4&/*&)K%&3<*8K"00GW&
&

A 208  
B 204  
C 188  
D 1,824	
  
	
  
	
  

&
FK%&C/4<"%&6%302&/+&#&G0$%3&C0"&)K%&
G<3)/:3/8#)/0*&+%*)%*8%&
&
&
&
&&&&&&&&
& & & & & & & &
& & & & & & & &

&
Which	
  division	
  sentence	
  is	
  also	
  modeled	
  
by	
  the	
  figure?	
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